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E 060C-02
SECTION-A
Analytical Ability
SRng #‘5:%56
Questions : 73 Marks : 75
Ao 175 Srdapesi 75
(i)  Data Sufficiency [Marks : 20)

Segrod 5?{&&

Note: In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as 1 and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

At 1

(a)
(b)
(c}

(d)

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.

Mark choice (3) if both the statements [ and II are sufficient to answer the
question but neither stalement alone is su fficient.

Mark choice (4) if both the statements I and 11 together are a0l sufficient to
answer the question and additional data is required.

1 %08 20 $6% adyd (58 BhSH o8 Bh), ol (Sea L11 el B fe
Soth |Dbdaren Sgroform aRgugrow. sty Sgrowdy Guoirhod AL
e @05 MRy aﬁgﬂﬁﬁ; DOTgEren wHsealr So el ol
E'E‘“EJD\.T"E'. e E‘Jg*ﬁt:é: |Bob Smdnlys S mren dBarAcD (1) mood (4)
LXK HB woud 2oy Jobs dobod

{a)

(b)

le)

{d)

[ HErgrRo ClaRTelatl Badine | Al S émgéﬁ:mﬂ ab BT
(1) e iLBobod.
S Sarerdo Ao [ERdve I (5 Domghioond b zmarew
(2) o o000,

S Sdrerio afjol® @adse 1, I gob dovgdian wothd®
D w8 S Sorgho wE2rd D aae (3) e febodod.

EhE SErerRo athodd @ibdoren 1, 1 $ob Erar Dovglo 08
WSy Saroto eidsiond 5 zarw (4) e hdodod.
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1. What is the average mark of 10 students *
56 dod dorgo biite ey, o8 7
[.  The average mark of 9 of them is 60
wotd® 9 fool Hiide ardy, 6. ‘4’
II.  The marks obtained by one of them is 52,
wothS® 2EDE 52 Ardy oo Hieyon.

-

5 6 ;
2. If A is the mﬂtrixl v d ] then what is the vatue of x 7

3 6 3 B
A |88 |: o 3 }ﬂ:mﬂ. x Gy, Devd o 7
L. A is not @ symmetric matrix. 2_
I Ais asingular matrix.
A 28 Frorlo |88,

3. What is the volume of the cone ?
Fod) Dnobirao Jod ? 3
. The height of the cone is 10 cm.
$0E) ek 10 0.,

1. The area of its base is 126 sq. cm.
e sl dingy STopo 126 5. 390,00,

4, What are the values of the real numbers a and b ?

TS Dormger a Ra b Gy, Swher WH,

I. Zisarootofx®-b=0 L’a
P -h=0 s al el

[I. 2isarootofa*- ‘*J'E' =}
at ~A27 = 0 G, 28 Lo 2

5. What are the values of the real numbers a and b 7
ish Howges a Mwban b oy Dewhen 2o T
. azh=7:3 b>0 4‘-'
. 2a:b=6:11,a=>0
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[s the positive integer a divisible by 427
42, GrrdyE grorofo a prioduthdone ?
I.  ais not divisible by 7. 1'

7 3 a w-Rodadi. :
[l. aisdivisible by 21,

21 @ a erhodaddiod,

2 ;
Is {lﬂgm’r} =log,y* 7
?

(log)gr) = log,gy* wHdooe ? :L
L x=y=10
. x2>y?

What is the area of the triangle formed by joining the points A, Band C 7
A, B by C Dodbiped Swdm drdrod |Sbao Au¥) Irogo Jod ?

. A=(25.B=(32) 2_‘
II. A, Band C lie on & straight line.

A, B 0l C 28 H8¢8ed dodran,

If x, vy and n are positive integers, 15 2" + y" divisible by 2 7
X, y 0oy n ey s Procostoond, 2 T8 4"+ y" arRodation ?
L. x=12] 3

I  y=1001

Isab=c¢d?
ab = cd wHdooe 7
.  a% of ¢ is equal o b% of d.
¢ & amrdo, d S bherad Hardo, 4.

[I. b% of ¢cis equal to d% of a.
c & bmrdo, a s drodd o,

4
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l.ll

12,

14.

15.

Is the positive integer x odd ?

S dyd Spgrodo x B dogrg 7

1. x2is even.
x? 20 Bogg. Fj—-

[, dyseven.

4y 20 Domg.

What is the unit digit of the integer x 7
Qrorol Doy ¥ T el R o T
1. The unit digit of x* is 1.
¥t Gy, elb o . 2—
II.  The unit digit of x* is 2.

¥ Gy aBh o L.

What is the valueofa +b+c+d 7
a+b+c+d&35&2~&ﬂ§:£‘ué?

L 3a+5b+Tc—6d=24 3
iI. a=b-3c+10d=16

What 15 the value of sin B 7

sin B aenD oo 7

1. tan A +cot =3 1

1. dcosec B+ cotB) (cosec 8 —col B} = |

How long wilt 200 men take to reap the harvest of a field of area 2.4 km* 7
2.4 S56% 8.5, Iroge Ho Fdo S0 Jobi ot 200 fod Do Jod
o0 S oirt 7

{. 100 men will reap the harvest of a field of area 1 km® in 6 weeks ?
| 5658 8.20. Fwego fo B8O &0 Do 100 ob Hthhe 5 arord” B3,

I 200 women will reap the harvest of a field of area 1,2 km*® in 6 wecks.
1.2 $56% 8.2, Brogo Ho gldo 6°0 Dot 200 wob e 6 rorE” ERR,

£
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16, Isxl<x?

¥ <xwhdoo ?

I x 5 a real number. 2_

x a8 aan f:-:}q.:ns.

I xisaninteger,
x &8 Yrgroko.

17. Which is the largest number among x, y and z ?
x, y ba z o5 98 KoH dowg ?

1. 12¢ =22 3

I RigreE=3:l1:h

18. Isx=y?
x=y wydoo ?
I x% of yis equal to y% of x.
y & xdo, x F y merdE Hdrdo, “]
I xis 20% of z.
z & 20 % 8 x Hdrdo,

19.  What is the slope of the straight line ?
u 350 G aren Joi ?

L. The straight line passes through the origin and the point (3, 2). i_
© J8¢ Up o Doty ©Bak (3, 2) Dokl ow Sdiob,

II.  The straight line passes through (3, 3).
& 8% O (3, 3) fooar Dfdocd.

20. Is the set A equal to the set B 7
PabE A, 218 B 8 Samitde 7

. ArB 2 A .j-

II.  n(A)=n(B)
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(ii) Problem Solving {Marks : 55)
RS TREN

{a) Sequence and Series (Marks : 25)

Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that

follow a definite pattern is given. Each question has a blank space. This has to be
filled by the correct answer from the four given options to complete the sequence
without breaking the pattern.

medis 21 2ood 35 5858 Towd He o8 Lﬁﬁlﬂ‘:&m CIAREY ﬁamgw o, wiorey me
o8 (Shedivons Jobdrd) rdpamon. (08 D9 o8 g dD 208 e
RS wod D0 sowd marwe S ED, il JatirlE Jotlo fukoae
arooird,

21. 50,65, ..., 290, 325
(75 2) 95 (3 176 w145

22, (25, 1).(23, D), (20, 4), ..., (11, 16
(1 (16, 4) (2) (16, 6) \.m’{lﬁ,ﬂj {4y (16, 1)

| l 2 2
23. 15,123, 145,163, ...
¢ i & 20 3 173 (4) 24

24, Thevalueofthe 13" terminthe series 1, 1 +2, 1 +2+3, | 42+23+4, ..
LI1+2.1+2+3,14+2+3+4, . @l 13 5 580 Gl Desd

(1) 97 y2r 91 (3) 89 (4) 85

2% ADLPF ..

(1) X " o 2 4 u

26. DFIK, GILN, JLOQ, ...
(1) MORP {2) MPRO uaf’ MORT (4) MROP

27. 11:1111::11%¢
(1) 12111 \,.Q!(]IEI[ (3) 11011 (4) 11121

28, 0625:5 :: 129%6;
(1 9 2 7 T 6 4) 8

7
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29. PALE:LEAFP:: : SHOFP
(1) SOAP {2) PSOH u&‘,l’ POSH (4) SAQP

M.  Professor ; Lecture : : Doctor :
@mﬁagd;. : 15::@5::-.‘{:.:;1 :Edusﬁa‘.

{1} Hospital {2) Disease
asgro g
-.'..{'!f Treatment {4) Patient
SLEN &°A

3L, 6 1535, 7Th

(141 (2) 142 v(df'l-:u 4 144
32. CEGK, EGKM, , KMQS.

(1) GIKM w2l GKMQ (3) GLMQ (4) GMQS
33, 15,24, 35, 48, 63, .99

(1) 72 2T 80 (3) 84 4y 90
3. 18,5098, 3138

(1) 121 {(2) 169 (3} 189 \,Hjlzaz
35, 2,10,30, . 130

(1) 40 2) 50 a7 68 @) 0

Note : Inquestions 36 to 45 pick the odd thing out.
SmS% 1 36 08 45 5% to (D od® 30 Told hiodod.

3:5.‘.(‘(11 (2) 35 (3 77 4y 15

37, (1) (14, 3,4) (7} (26.4.6) (3) (3.5 T (70.8.9)

8
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38. (1) LUNG (Z) EYE '(é{‘ HEART (4) EAR
#2085 &y 0B 39

39 1y 17 (2} 13 (3) 11 \,(M/E

0. (1) 31 2) 41 v 51 (4) 6l
41. (1) River (2) Lake V(vf Dam (4) Pond
o8 ?’ueﬁ“'m:, By Fewn
42. (1) 576 {2) 225 \,tﬁ‘r 672 (4) 96l
43, \.44'1' JLNQ (2} FHKO (3) CEHL (4) NPSW
4 (1) E 2) G 3 K W P
45, (1) Cap (2}  Turban (3) Helmet '.m" Veil
L) desari AU raesho Sty (Suoer Tﬁﬁ?ﬂiﬂ.ﬁ}

ib) Data Analysis (Marks : 10)

Note: Study the following Pie diagram carefully and answer the questions 46 to 50.

: Salaries

: Canteen

: Medical expenses

: Insurance & Social Security
: Miscellaneous

A

4004
.

The ahove diagram shows the heads of expenditure under various categories in percentages
in a budget of Rs. 2,880 lakhs of an industry.

mgoa| e

9
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() Szrod T (10 Sré;00)

f5oRg 1 |Bol S 5 Berdy eridm wdpobibo T, 46 ot 50 $5% He L..:-“.iwr:'.;.-_.. BT EL

: Borep

: E*guﬁﬁ

: Enﬂgﬁé oy

;208 Hitr Dbofy ol S8
e OEnen

m 9O o W =

. 2880 vfu Srarowe 2B8 & 28 Gdol IR
&i‘*-:-; Pidued 80ahTkcd.

B R 8 00 G

46.  How much money, in lakhs of rupees, is earmarked towards the salaries for thz employees ?
:’mi*ge"i:u doro 2ol Qod danyd, vio draroned®, Siranodiduod 7

w” 1152 (2) 1252

(3) 1100 (4) 052

47, How much amount, in lakhs of rupees. is saved if miscellaneous allocation is not utilised
and 10% of the canteen budget is over spent ?
=

2dd pénoE Seranoild Ganyd abd@rfodbor, ?50655 T Sironotiy deoy

£08 1% wdform pdy Zahdo BRSNS, Jod rdey, ofe Ervaroadst a,-a..;l
wongod ?

(1 197.2 1872

(3) 2736 4} 2076

48, If the insurance premiums during the vear amount to 15% of the insurince and social
security budget, then how much money, in lakhs of rupees, is left for speading on social
security 7
£04 Dir Ldaly odud SEm Stranodd', o noniydod® 208 DEr (Livabo
Ao 15% wond, ol S¥ad piyy Jadorld dod deny, vio Srdrabed’
wone godood 7

{1y 108 {2y 720

Va7 6l (4) 288
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49, If the total budget is Rs. 8640 lakhs instead of Rs. 2.880 lakhs, then how much amount will
be increased on canteen budget, in lakhs of rupees ?

Fwso 2885 Srawol 2880 ofv rarabol wiwwns B.640 oie drarabon

soud, 5podS w38 (Bol Jod dusy, oin Srarabos’ Bhibdod ?
(1) 764 (2) 1152
(3} 1296 AT 864

50. From the total budget, if the canteen and insurance & social security heads are reduced by
56 and 109% respectively, then what saving could be achieved. in lakhs of mpees 1
o 238 & s7godS Lok 208 i Loak ool dEP Hpo (B B
5% wsbofu 10% $0%, Jod TRy, o5 Erdroned’, eor Dali'wo ?

WAT 936 (2) 288
(3) 576 {4y 43.2
Mote Study the following table carefully and answer the questions 51 to 55 :
ASDE:  |Bod LUES s edgatido @, 51 &ol 55 BIG Ho PERon
rhla b PV devitels 3
. Year ' | | |
“hoddydo ' | I I
. —_— | .
- - 5 G ¢ g |
Pmy\ 1970 s | 1980 | 85 1990 | 199
24 | | | |
r X 20 60 50 40 35 26
. - 200 160 180 220 24 140
_ B0 70 60 40 31 138
! A b aS 50 40 20 15 |
i B 15 | 22 | 30 35 10|

52.

This table shows the number of elected mermbers from various parties in a State Assembly.
& DK, »8 o whobd® D08 rfo o W ER REgo poggi 8wl

What percentage of seats did party Y getin 1994 7
1990 &, 20 Y Jdod 7o Fraruls NesisS ol 7

(1 70 wﬁ'ﬁf. (3}  6R (4] 62

What percentage of growth did the party A gain in 1995 over the previous cleciion 7
|Bokd] Dy e S0, 1995 & 28 A Jod Tdo BB Hepotiob 7

(1) 40 @) 42 N— L @) 46
11
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33

54

23,

(c)

56.

060C-02

Which of the two parties could join to form a government in 1995 if Y and Z are opposed
to each other 7

Y &0ch Z e HEddo E:g&ﬁ%nf’n?aﬁ, 1995 &° [Bebergdy Jomyin Dabwrdd
o) Dot SrQen Suib oy ?

(1) YandX  (2) Zand A (3) Zand X W4 Yand A

How many more seats did the party A get over the party B in all the elections put
together 7

INE oodd K0, 18 B K08 H A I Fare My S HenhE'on ?
1y 76 w2 86 (3) 40 4) 65

In the year 1973, what percentage of seats did the party B get with respect to party Y 7
1975 & BoddyBos® Y & HOy bud®, B % Oy by mdo Jod 7

(1) 6.5 (2} 5.25 (3) 6 wf'::m-zﬁ

Coding and Decoding Problems (Marks : 10)
Directions for questions 56 to 65 ;

The questions 56 to 65 are 1o be answered using the coding and decoding of the letters in
the English Alphabet as given below :

The ™ letter is coded as (r + 1™ letter if r is odd and as {r =1)'" letter if r is even. In
decoding, the inverse process is followed.

56 000 65 H8% Ho Phod drddo :

56 oD 65 HH Ko PHOL, scid wibivwe &7 wifive Sdofi Lbak
8-5'30f L Hibd 5N Aihom dIErN0D, ShrerTrel [Erobd,

r- B dopg wond, 1- 5 wfod 1+ 1) - S wgdorr §6 Jurd.
r- %0 Howg wond, r-5 eEomd) (r- 1) - % sgdom E'S Safrd,
&-5aof & A0 Deth SEBN FSod,

What 15 the code letter for T ?

T & &5 wEto 8 7

WS @ U

(A ¥ ) R

12
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57. Which letteris coded as J 7
& e¥din ] m £E dabadon ?

() H w1

(3 K (4) L

58. What is the code word for QUALITY ?
QUALITY 8 8°G o B 7

(1) RVBEKIUX i2) RVBRIUZL
W7 RVBKISZ (4) RVBKIUZ

59, Which word is coded as FWOKBMS ?
o Hito FWOKBMS m B°8 Sabadod 7

(1) EXPLOIT (2) EXPLORE
(3) EXPLODE vm" EXPLANT

60. Which word is coded as CPNJMP ?
o Bi5o CPNIMP e 58 dabadod ?

W DOMINO (2) DOLINO
(3) DOMAIN (4) DOLMEN

61. What is the code word for HOMOGENEOLS 7
HOMOGENEOUS & 858 sdc o ?

(1} GPNPFMFPVT wﬁ" GPNPHFMFPVT
(3} GPNPHENFPVT (4) GPNPHEMFQWT

62, What is the code word for GREGORY 7
GREGORY & 5 &%c o8 7

(1) HQFHPSZ {(2) HPFHPQZ
Vs HQFHPQZ 4) HQFHPQX

63. Which word is coded as OQPCIHZ ?
® B&e OQPCIHZ m 85 JSatwdod 7

i1} PROVERB (2) PRODUCT
(3} PRODUCE we PrODIGY

13
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64. What is the code word for ENIGMA 7
ENIGMA & B8 880 06 7

(1) FMIGNB Wi FMIHNB
3) FEMIHLB (4) FMHGNB

65. Which word is coded as INOPTF 7
N $do INOPTE e 556 Sobadod 7

(1) IMPURE (2) IMMUNE
(3) IMPORT JA7 IMPOSE

(d) Date, Time & Arrangement Problems {Marks : 10)

66. If a month in an year starts with Monday, then the date of the fourth day after the second
Saturday in that month, will be
2.£ Hodd o o Re Ssbrtof Audoond, v Bud® Sofff Hlardc domyd $T)

ol S g, 38
(1) 16 w17 3) 18 @) 19

67. If9" May 2008 was Friday, then what day was February 14™ of the sume year 7
2008 & 9 % 88 B|FrSo vawd, 8 Boddydo Dkd 14 B wily Brax

{.}’f Thursday (2} Monday {3) Friday (4) Wednesday
ot Fhdoardo A Sardo audsar o

68. The ages of a son and his father were in the ratio 2 : 5 seventeen years ago. If the present
age of the son is 35, then the present age of the father in years, is

17 Soddyore (Bodh wf SEE wich w&T dod © Habie 2 1 § dpast
aamon. [Hpdo Bl Saii) 35 Soddyoroad, B Sod Loty PohdyTred®

(1) 66 (2} 65 (3) 64 W 62

69. B is the brother of A. § is the sister of B. E is the brother ot D. D is the daughter of A. F is
the father of 5. Then the uncle of E 18

A alng) FShd B. B Gln¥y %0 8. D Glng), i E A Gk, giwrs D.
S Gin¥), do|d F. wiypdk E GluE), dDBL d08 8 &bt ardo

(1) A W B (3} F @ D

14
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0. f5@6=6land8 @ 10=164,then7 @ 0=
5@6=61 %008 @ 10=164 sond,7@9=
(1) 124 (2} 120 (3 32 vi"( 130
71. Inaclock, the angle between the hours hand and minutes hand at 5 hour 10 minutes, is
2.5 Kackrdod® 5 K0. 100, & &5 ot dww 8, Dware dow 8 ode God Smo
(1) 60° N (3) 120° (4) 90°
72.  The number of ways of arranging 4 boys and 3 girls in a row so that the row begins with a
bay and ends with a girl.
20S af roadd Iwdoow, of wrbES sodddlpbiorr, bl wrendnd,
Sl er ol o8 Ho8S® I Dorenre wdyieo 7
(1) 360 (2) 480 {(3) 720 -m’ 1440
73, Which will be the first leap vear after 2096 ?
2096 domed HT) RS OY LoddyE D ?
(1) 2100 W2 2104 3) 2102 (4) 2108
74. It two circles of diameters 10 cm and 6 em touch externally, then the distance between
their centres i3
6 0.0, B0k 10 0.2, Sgidves m KOMS Tok Dyddwer erdrgorm 380
¥od, v H)¢ Soiwe duig drdo
(1} l6éem (2) 2Zcm (3) 4cm \'Qf‘ﬁcm
75.  The director came to the office to attend a meeting at 15 minutes past 12 and he came

23 minutes before his steno who in turn was late by 30 minutes to the meeting. At what
time was the meeting supposed to start 7

w8 SrdTal Sl sdards w Domobhids, Ho. 12-15 & sorgoalrd Somyd,
@ ShrReoE 30 Jdudrey wodgor $0y9 e4 ?33[_&{;5 08 u BEEW
23 enalen Aol Hid. o Sdrddo o Soirdd (doio sbel aod 7

(1) 12.00 (2) 12,15 v""’ 12.10 @) 12.20
15
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SECTION -B Marks: 75
Mathematical Ability srdaywa: 75
el Srsedzd
Questions : 75
Li-"&;m:'.’ﬂ
(i}  Arithmetical Ability {Marks : 35)
2 1 1
76. 3-167+9°=
(1) 3 M 5 (3) A2 4 2+43
- g
F Mt
7. ‘}!'ab-mh _
r- 4
\fa - \ab
h a b i
(3 \.i'!(b (3) e i
78. IFe! =27 thenx=
glv-l = 37942 od, x =
1y X 2 4 \ffﬁ’ B {4y 16
o . B
™. If E‘;za.:hcn.x ¥ =
2y 5§ 4
. = 0E, XY=
ar b
(1) 5:3 (2) 3:5 (3) 5:4 \A(at;s
Bll. Fora cylinder of height b and base radius r, the curved surface area is thrice the area of its
base. Thenh:r=
h o, r el (20r) -ﬂ‘gﬂ“gc}m Hes Qr-fr@% HEde ETE.EG o wgrd {(20v)
Frergld 3 Oéool), h:r=
AT 3:2 () 3:5 (3} 2:3 (@) 5:3
5th 1
8l. If & of a numbt:riﬁz,thcn ane-third of the number is

1
2.8 éoﬂ;gvﬁﬁ% % Sodk 4 wowd, o ﬁnq:gﬁ“ :_%;é Sods
2 1
3y 35 \.H‘r 10

16

Lo
|l—l-

(hi P (2) ]

[
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82, If 7% of B0 is equal to 209% of x, then x =
BO0 &* 7 wrdo x &° 20 Terdd Sirdo wond, k=

(1) 300 Vo 280 (3) 240 (2) 200

83. IfCand 5 respectively denote the areas of a circle and a square having the same perimeter,
then

2¥ gy Fodd 20AS of HHdo wbah SHle G Frovged HEIM
Cdobol § 3 D, ubwi

= (%)

(1) C=58 (2) C<S§ W(C}S £y C=nS

84, Ifx:y=12:3andx+y =10, then what is the value of y —x 7
x:y=2:3x+y=10wond, wirpd y - x Slu Dol oo 7

(1 4 7y 7 (3 5 w(!

.|’ a:‘i- ] | 5 '-i [ Cﬁ ~.
|y g x| JJ
85. Ifa+b+c=0, thenthe value of x atbe s \Jab Clx 'x't;ﬂh" 15

Ir. a.‘!- ".I [ hﬁ ‘] i Ej 0
| 2 : T
a+b+c=0uond, ¢\ Jabe] f3able) 'x3“b¢ﬁj Ses

1y # 2 # i (@ 1

86. Which of the following is the greatest ?
|Bod s’ 28 fid@o 7

(1) 33339 (2) 33333 o Mam-ﬂ

a7, If A gets 50% more than B, how much does B get less than A 7
B 508 50% JEp S A 2088, A $08 B Jod S5 5 Poderd ?

(1) 25% w e (3) 50% ) 665 %

88. What is the remainder when 23219 i5 divided by 3 7
219213 33 F g Rotddypd $T Blo Jod ?

I 1 v 2 (3 0 (4) 4

89, Ifa+35=4(mod2), then the value of *a’ can be of the form (n is a positive integer)
n 28 §xrdrE Yrorofo. a4 + 5 = 4 (mod 2) eond, edwdk a G, Db, &
draod® aotuod.,

(1) 2n {2) 2n+2 \;J(En—l (4} n
17
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90, The smallest three digit number which satisfies x= 5 (mod 3) is
vES (mod 3) D &% Hud S0t durdh w0l émﬁg

) 104 B 10 3y 102 Wi 101

{N#E
91, If u;z =25 then x =

[ . 2
\E{‘\'F] =M wowd, wid il x =

==

(1) 4 2 2 N 4) 2

92. If the ratio of the radii of two spheres is 2 : 3, then the ratio of their volunes is
otk fere g gre D8 213 wond, ebyh &8 LEtiree 20

(1) 8:9 (2) 4:9 T 8.2 (4) 2:3

93, The average age of 3 females is 15 years and their ages are in the ratio © ; 2 ; 6. Then what
15 the age of the eldest female in years ?

Efmﬁ;uﬁa clcsaton Doend &uﬁmﬁ 15 E&-cééﬁmw, ls ?f:-:.-:i'.:i:{;ﬂ:- B gl :-..»-:..:'“'-{.-f'_tfg
EISATSHE Eﬂ;}zt&u DS’ woling DE 1:{;; ol h;_‘i’:.iu;:, “";L;ﬁa&:é:_mw ?

,ﬁ( n ) 20 (3 25 @) 40

94. A job can be completed in 12 days by one man or two women. In how many days can one
man and one woman complete the same job 7

8 Yotk Bor adth Jen 2.4 IV 12 Serod® Jpd I3, o8 HShud Lo
2 v ol 200 ) Fered’ §ro S 7

(1) 4 2) 6 3 9 .

I
141

95, Ifr=5+2/6.then ™

¥=35+2/6 wond, wdmpck %&'lu

() 42 & 22 (3} 3 @) 23

6. An amount given for compound interest becomes 3 times itself in 3 yvears. In how many
vears will that amount be 9 times itself 7

Sod rawy s :f:u's"‘“* 3 n}Umé‘\TUﬁE 3 B eipdaod. mamu}mtﬁé* R
9 0dy wydood 7

(n 9 w/a (3} 3 (4) 8
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97. The incomes of A and B are in the ratio 6 ; 7. Their savings are in the ratio 8 : 7. Then what
is the ratio of their expenditure if B saves a one-third of his income 7

Apbol B & woralren 6: 7 E'J‘-’qu‘:,_:'_:-.-fﬁ{ Soron. & Sl JnNE 3: 7B 45 wor
cbod” Ll Sod e Fh o0 &N NS Jos 7

(1} 4:5 -J_’{ T ¥ (3) 5:6 4) 3 4

98, Ifa:bisl:2; b:cis3:5, cidisS:dande:dis5:6, thena:b:c:d:a=
a:b=1:2, b:c=3:5, c:d:i:d&ﬂﬁfxe:d=5:ﬁ$ﬂ}}é,gf¢;~pi1:b:c:d;e:
(1Y 3:6:10:8:7 {(2) 15:30:50:40:48
(3) 1:2:3:4:5 I 9:18:30:24:20

99.  The iength of the diagonal of a square, whose area is equal Lo the area of a rectangle of
length 81 m and breadth 50 m. is

8 Ao Fwogo, 81 . TaH WO 50 . Bery KOAS &Y SEdHo
SToghudh Jhrdo, edyvd o Siudho Sdo Srdy

(1) 45m 9?( 90 m (3 402 m @) 452m

10, A works 3 times as fast as B, If B completes a work in 60 days, then in how many days can
A and B wogether complete the same work ?

B 508 i Odw Trform A SEI%. B of 290 60 Ferd® 5re @5, A Sbalu B
B8 SO BT © 5D I Ferod® Lro I ?

(1} 12 W 15 (3) 18 @) 20

101. The maximum number of boxes, each of length 2 m, breadth 4 m and height 5 m that can
be placed in a box of length 20 m, breadth10 m and height 5 m, is

20 . Y, 10 . Do, 5 . b KON 28 DBE' 2 . PED, 4 D, ey,
5 b, 2 HONS Dk HBGor R 08d eowiuo ?

(130 (2) 40 (3) 20 W s

102. Two cubes each of the edges 20 cm are joined to form a single cuboid, Then the surface
area of the new cuboid so formed is

28 5 ¢ 20 20.50. wodi& HORS Toth Sdtwed, o &8 RO Hrdrot o

et
S0FS. vy PEm Solrdd n'if_g 20 HFSbarbdac
1,“.( 4000 sq.cm. (2) 6000 sg.cm.
(3)  54(M sg.cm. {4) 6400 sq.cm
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103. If x, v. and z are three integers such thatx + y =16, y+z=20 and z + x = 22, then xyz =
x+y=16,y+z=20 5000z +x =22 edbptds x, y, z @ &b JrorosBE, ey
XyEI=

(1) 880 (2) 981 (3) 900 w819

104, Two taps A and B can fill a tank in |2 and 18 minutes each respecuvely. Both are kept
open for 2 minutes and then the tap A is closed. In how many more minutes will the tank
be filled ?

A fobofn B Byroves D8 Db 12 fS0cth 18 Sdwarod® S84 m FE Lo e,
Oody Eerorerd 7 JawaProe 823 €5 Ol dored A 2 A e, &8 Joldarg,
ROS ok Rwarey dddod 7

) 15 M 13 (3] 18 4y 16

105. In an examination, A got 10% marks less than B and B got 10% marks less than C. If A got
810 marks, then how many marks did C get ?

a8 HCYS" B 0@ A & 08 wdo S8 drinw Soryow, B & C 08 50 médo
S&n S drdn oo Soryow. A B 810 Srdyen 37, C 8 O drdypen Homyon T

(1) 900 (2} 970 (3) 920 .,‘pt'f 100K}
2 2
e T g
(1) +/5-4/3 2 \7-4f5
& T3 @) \T-2/5 +43

107. A sum of Rs. 410 is distributed among 50 students in a class. If each boy gets Rs. 9 and
each girl gets Rs. 6,50, then the number of boys in the class is

410 drarobed o8 4588 & 50 od I.!:Fg?-::-& woudo =Dhod. B8 ol
0 drdrowe, (B8 08 &r. 6.50 o8, u 818 &Y wrwd Dowg

1y 17 .ﬁ{ 34 {3) 16 (4) 25

108. The number of divisors of 1800, other than the number itself is
&4 Do WisTFon s, 1800 GwE), arasine Howg

(1) 34 N (3} 36 @) 40
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109, If a regular pelygon has 15 sides, then the number of diagonals that can e drawn is
25 |50 warazhet 15 dhared K88 &oB, o08* Aaw HORS Sgdve dowg

(1) 60 () 75 (3) 30 w o

110. If the square of a prime p > 5 is divided by 12, then the remainder is always
p>5 Eﬁag (B Bomg p ) Mo 128 A, w8 Ao O yihr

(1 3 v 1 (3)° 7 4 11

(if)  Algebraical and Geometrical Ability (Marks : 30

111. If A, B, C are three sets then A — (BrC) =
A, B, C v surdl Sndoond, A ~-{(Br(C)=

"dd; (A-B)U(A-0O) (2) (A-Byr{(A-C)
(3) (AuB-C 4) (AnB)-C

112, IFB ={meN/misa multiple of n}), where n & N, then B, M By =
nEMNE B ={meM/madaq Q¥ e¥o) wond, B, "B, =

(I} B (2} B, (3} B, wiel” By,

113, If aset A has 4 elements, then the number of relations from A 1o A is
28 Bopd A & 4 Drosowed, A Lod A B He RORDOGEe Bopp =

T 218 (2) 28 (3) 28 ) 4
114. If a set A has 6 elements, then the number of subsets of A containing at least 3 elements is

28 D8 A & 6 furesaod, ¥ 3 Mrosond) 4 Bl Bogg

(1} 63 (2) 57 Wt 42 4y 40

115, If p, q are two statements. then l{p—=q)is equivalent to
P q = o Badirwond 1 (pq) & g |S6S50

(1} (lp)vq (2) (Ip)aqg (3} pv(ig \P‘(Pr’*':_l‘?t]

116. If a set A has 5 elements, then the number of injections from A to A is
w8 S8 A 6 5 frosraod, A 08 A % o wde¥ ddatre ome

W10 (2) 55 3 0 (4) 25
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117. If R denotes the set of all real numbers and if a function f : R — R is defined by
fix)=x* %Y xr € R, then f is
PTI Y S *J::GQFE febd soumand, ¥ @’ﬁ.ﬁﬂhﬁﬂ f:R =R &, E’:ii x e R §,
fx) = x* re JGUD, u |Hboko
(1} & one-one funchion.
¥ @ﬁaﬁ [Sohue,
{2} an onto function.
e ﬁﬂLﬁf_ﬁﬂ E’J&Eﬂﬁ.ﬂ

\.d; a function but neither one-one nor onto.

wdin, Ho|fdie Bodr 59 [Hibaki.

(4) & bijection.
28 Bt Habotbiw,

118. The foot of the perpendicular from the point (3, = 4) to y-axis is
(3, - 4) Dosed Lod y-und AN sondedo

(1) (3.0) W (0,-4) (3 (-3.4) 4 (~4,0)

119. The equation of the straight line passing through the points (2, =3), (3, 3) is
(2,-3), (3, 5) Docofe rhome 56h HEETer H¥deo

o Bx-y=19 (2) 6x+y=9
(3) x+3v=10 (4) Sx=3y=0

120. A line drawn through A(S5, 3) makes an angle of 45° with the x-axis at B. Then the distance
between the points A and B is

A (5, 3) Doy thoar Gh &8 H8¢ Tp, x-ufod Dok B 58 45° Bardy 2807,
fodiHen A B hnﬁg Emdo

’
() 43 (2) 42 (3 13 12

121, cot 15°=
,;rf 2+4f3 2) 2-+3 (3) 3-2 @) 312

12
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122. If0 <8 < % and cot 8 + cosec B =13, thencos B =

[}«:Hc:%,cmﬂ+coseuE=3@mE,cnsB=
2 3 4 3
1 3 @ 3 o 3 @ 2

cos |3 =sin 15° _

123, cos 15° + sin 15°
=
1y ¥ 2) 2443 3) 3 oA Jl?
124, sin 945° =
©¥  e-f ey M

125. A tower on a herizontal ground is of height 100 m and subtends an angle 30° at a point A
on the ground. Then the distance of A from the foot of the tower is

e SirodfDl dep wd) 100 2. 2% Ho of Howo Fo  o¥ Dok A B
30° 'm0 SFF00. Doty A o Hoardo H8% o &rdo

100
i (2) 100 m
v 1003 m ) 1002++3)m

126, If A = [ ;]Jhenhz—?ﬁ

4w
=[,, 3] ]ﬁmé,ﬁ:’—?h

(1) 14 (2) 141 (3) -14 1,14{—]4]

127. Let A be a 3 x 3 matrix and det A = 5, then det SA =
A 28 3 x 3% BE, det A = 5 wond, det SA =

wf s @2 5 (3) 5 4) 5

3
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i %
i . S : 5 1V,
128. The term independent of x in the binomial expansion of | x3+F| 18

129,

130,

131.

132,

b
L2 +-13 Glu¥), Bedd JRded® x T Mo
L A i
(1) 84 (2) 56 w0 ) 9

] A
The 4" term in the binomial expansion of {F + x5 ¥ J6 is 160, Then the value of x 15

4 b
(554022 a8, BgES DGERE™ 4 § B0 160, s x Eu¥y, Dewd
(1) 8 2 -8 3) -1 v

A polynomial p(x) leaves remainders -~ 1 and 3 when divided by x - 3 and x + 1
respectively. Then the remainder, when the polynomial p(x) is divided by a2 =2x=3is

a8 2rod pix) & x - 3 Sobals x + 1 oF grRoliyd E-‘JQ} Aorey {8 -1 Sbaiy 3,
wpdds plx) R -3 grhT éﬁh‘\ vk,

(1) x+1 2 13 (3) 2+x \H(I—x

If the 3™ and 7" terms of an arithmetic progression are 8 and 20 respectively, then the 5"
term in that progression 1§

2% wol A" 35 Dbk 74 Dorew SBHM B Rubak 20 woud, v (HES° 55 Sk
(1) 10 2) 12 w2 14 @) 16

The Geometric mean of 4 and x 15 10, then x is equal to
4200 x 0% e dge 10 gond, x =

5 ]
5 2) 5 o 25 @) 50
_ gy
133, lim 5= =
¥—33 =190
9 27
(1 3 uifg (3 9 Oy
!
134, lim SSEL
» 1 —-sin'x
I""E
Wi o (2) 1 (3 2 @) 3
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135. The derivative of sin x with respect to tan x is
[ \;‘Eu F =TT =L
tan x d&?_:lﬁ sin v Olusy wdEed

(1) cosx {(2) cosly

w cosd x (4) costx

136, Ifx = W2y + '~|I2:r’+:n.|-'?,}'+___m,[he;]§xi=
X = ‘-.."E}'+:..|.'1}f+"-.j2}'+-.-m sond, %=

(1) x+1 (Z) x-]

|
(3) X+ W.rﬁ‘:.;

137, 1an 22° + tan 23 + tan 22° - tan 23% =

-.Wf ] (2} 2 tan 22° tan 23°
(3) 0 (4]  tan ]1°

138, ~{i~p) v g} is equivalent to
~{(~p} v & eﬁ;mg EeREe

(1} pvi~q) (2} {(~pvqg
pal~q) 4 (~piagq

138, If the internal angle between any I1wo consecutive sides of a regular polyzon with n sides js

120°, then n =

n gheron) 28 Shad Hhast |58 Tod 2here wierie wodd Fere awdo 120°
wond, n=

(1) 4 i &

.J.'.lfﬁ (4) 8

140, If the perimeter of a circle is equal to the length of the side of a square of area 64 m?, then
the area of the circle is

a5 28 406, 64 m? Frogorr Ko Siddo GRwgy, 2herd8 Sirdo wond, o oy

Froro
s L& 7] E‘. 2
(ly =m \ﬂ( q m
8 R
3y 5 m 4 ~m
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fiii} Staristical Ability (Marks : 10)

141. If m is the arithmetic mean of x,, x5, ..., x, then the arithmetic mean of ax, + b, owxg + B .2

ay +b,is
Ep gs e X, 05 w08 Do m wowd, ar+ b g + b, A + b, o0 w08 BEgo

(1} m (2Y m+b

y@_@f am + b (4y am

142. When two dice are rolled, what is the probability that the sum of the numbers appeared on
themis 11 7

Do SrDge BSHpi 8D 53 wose Rwdol ledhy Dogrdgs Jod 7
1 .y

(3} 3 CY

143. The variance of the distribution {1, 3, 5] is

{1,3,5) &l eraardd D8

& g
(1) 8 \,(2(3

2
(3 '\..Iu' = (4) 4

144, The arithmetic mean of the first 10 positive integers 15
Zodd 10 &8 Jrrosto 968 WG

(1) 3

) 6
(3) 5.4 J 5s

145. The probability of drawing a red card from a deck of playing cards, is

2 B8 8 ol N otk HE Swg

-
=

.
[3 el

|_T-‘.l_l1 M%

(1)
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146. The median of the first twenly positive integers is

o T - AN T = o
anidd 20 'i'.;:.-.- IEE'PE Q5D E:I.L.a':}ﬁjﬂ

(Iy 10 vﬂ’ 1.5

(33 11 (4) 9.5

147, The standard deviation of x + 1, x+ 2 v + 3,5+ 8, v+ 7and x + 9, where x is not equal to
ZEro, is

i"ﬂﬁgéu4auméj@clﬁ‘”“ﬁ_1+l X+ x+3,x+8 x+7. v+ 9 Yo A ﬁtﬁ&c

N L]

; 29 . 58
N \ 6
z 58z S8x
(3) “n,u." BB 4y ==

148, Five coins are tossed at a time. Then the probability of obtaining at least ene tail js

5 oridedy 2230 8 3 DR, $M00 n¥ S 53 RTabA LT o

) il
L] | I

1 5
(3) 3 i) 37

149. 1If a 4 digit number is formed at random using the digits 1, 3, 5, 7, 9 without repetition, then
the probability that it is divisible by 5 is

I, 3, 5, 7, 9 =oBod Peoringo sHomr aNdrfcd o.f 4 &0S8 Doped

s
ui“r..‘-ujéﬁﬁ“ -:.-':j"‘-a'm:' s r\.:-r.sz-g & erfodadirds oermnp &
4 3
(L) s (2] 5
G g A
5 W 3

150, The AM. of 5 observations is 4.4 and the variance is 8.24. If 3 of the observations are 1. 2,
dnd 6, then the other twa are

:-' Lﬁ.i'-ﬂ\ﬂﬂ'} 3’55 5}5&&:“;‘ 4‘4 :'u; a H L"—1' Eg::"ﬁ,--\..:' mﬂﬁ} E‘:E:%bﬁ}m ]'I 2 é:ﬂ'&.{:} 'E'
woed, LAY ok 208 e

(1) 85 W& 4,9

(31 7.6 () 2,11
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SECTION - C
Communication Ability
B L ol ﬁ“éaggﬁ
Juestions : 50 Marks : 50
PART -1

Choose the correct meaning for the word :

151. Circumspect

ud' Cautious (2} Round about
{3)  Full of respect (4) To inspect

152, Mandatory
(13 Man-made 'yﬁ.‘f Compulsory
(33 Optional (4) Coercive

153, Industrious

(1) Vigilant w2 Diligent
(3} Aler (4)  Vibrant

154, Reconnoitre
{1}y  Concihate (2}  Adjust

(3] Restore W Explore

155, Mediate

-,,pl"_l" Intervene (2)  Compromise
(3) Negotiate (4) Persuade

156. Householder

M Tenant (2)  Policy holder
{3} Husbhand {4}  Seller of the house

Fill 1n the blank choosing the correct word :

157. The editorial the way that journalism has lately been failing in its mission,
(1} expresses (2) encounters
(3} depgrades \,ﬂ( deplores
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158, The old palace was dingy and __ but it was still serene.

{1} pracious (2)  beautiful

(3] fourishing w7 dilapidated

159. To pass money in order to disguise its origin from tax inspectors is known as money

{1} evasion {2}  avoidance
& laundering (4)  whitening
160. One has to work to get a first class,
M’ hard (2} hardly
(30 maost (4)  mostly
PART -2

Choose the cormect answer ¢
161. In data communication, bit per second is called

(17 Bites (2} Pixels
v’ Baud (4)  Bandwidth :
162. A scanner transforms data on paper into
mﬁ' the digital form {2} graphics
(3)  commands {4) pictures

163. LCD monitor means
(1) Liquid Compressed Display Monitor.
(2)  Liquid Computed Display Monitor,
{3)  Liquid Control Display Mounitor.
o Liquid Crystal Display Monitor.

164. A binary check digit is called a __ hit.

(1) trail (2)  tracer

W7 parity {4} control

165. Cache is
(11 atype of browser.
&) fast memory used for temporary storage.
(3)  atype of virus.
(4)  aspecial computer programme,
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166. A celebrity chosen to promote a product is called a
Brand ambassador. (2) Brand manager.
(3} Brand sponsor. (4) Brand agent.

167. A direct advance made in lumpsum against some security is called a/an
loan. {2) cash credit.
(3} overdraft. (4) discounting of a bill.

168, Capital spending 15
(1}  the name for all the property, equipment and investment owned by a company.
{2) the total amount of sales in a year.
(3)  how you are charged for borrowing money.
a type of investment made by a company when buying equipmen:.

169. A consignment is
(13 what we buy under the barter system.
(21 what one sells as his primary product,
the quantum of materials delivered.
(4) what one buys in a month,

170, The current Indian law governing foreign exchange transaction is known as

(1) FERA. v FEEMA.
{3) The Indian Contract Act. (4) TheIT Act.
PART -3

Choose the correct answer :

171. A.  Would you mind withdrawing from the contest ?
B. Ido.
B's answer indicates that
(17 he will withdraw from the contest.
he will not withdraw from the contest.
{3) he may withdraw from the contest.
(4) he is sure to withdraw from the contest.

172, “Had [ saved enough money I could have bought a car by now.” The speaker means that
(1) he saved enough money but could not buy a car.
\@¥ he did not save enough money and so he could not buy a car.
(3}  he saved enough money and so he could not buy a car.
(4 he did not save money but still he managed to buy a car.

an
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173, ‘To ride one’s hobhy horse’ means
\.{ar'ﬁ" to talk about one's favourite subject.
(2)  to go for a ride.
{3} to bet on a horse.
(4) tobe interested in horses.

174. “Throw the baby with bath water” implies
\,H’j' discarding something useful,
(2)  carelessly handling the baby while bathing.
{3} losing sight of inessentials.
(4} wasting useful resources.

175. "Howdo youdo 7 isa

{1} guestion, \.ﬂ'}’ greeting.

(3) command, (4) request.

176. The police could crack the mystery finally because one of the gang blew the whistle on the
robbery. The underlined words imply

\A"ff to call attention to {2y to make loud noise ;
(3)  to blow the whistle loudly {(4)  to render help

177. She always decides things at the eleventh hour. The underlined words mean
{1}  close to midnight. (2) after eleven hours.

at the last moment. (4} after a short time,

Fill in the blank with the appropriate phrase/verb/preposition :

178. India has made rapid progress the dawn of Independence,

(1) for \,ﬂf since

(3) in (4) from
179. They rowed the boat the lake.
(1) for (2) at
ACTOSS 4} on
180. Write ink, before you type it

(1}  with (2) by
{3} from w’ in
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181. Most politicians are . Tdon't trust any of them.
M on the move {2) onthe make

{3y making a move {4) being on the move

182. The strike by the contract teachers was at the last minute.
called off (2y  called out

{3} called at 4y called on
183, Ravi____ ill last Monday.

{1y contacted (2} contracted

\,@eﬁ' fell (4) went

184, Does Leela smoke 7 Yes, she

(1) smoke yﬂf does

(3) inhales {(d) lights up
185, Her first son o her expectations.
W lived up (2) gotup
(3] gavein (4)  succumbed
PART - 4

Read the following passage and answer quesiions from 186 1o 190 :

An interview is a widely used device for assessing a person's ability or suitability to hold a
joh. A person’s life can be seriously altered by his or her success in an interview. An
interview is as important for the organization or institution as it car be for the candidate
who takes it

Surveys conducted on the efficacy of an interview as a mode of selection, emerged with
unflattering results. The findings proved to be adverse. Interviews are still held for reasons
which might still be described as purely pragmatic. They have proved to be the only
available source, being able to be arranged and carried out, easily.

In spite of this, no organization can place its stakes, totally on the performance of
candidates in an interview. Hence they resort to such additional devices as may be required
fram time to time. On the other hand, no candidate taking the interview can afford to be
complacent. He has to be equipped to a certain extent at least, of the requirements of the
place where he has to serve.

186. An interview is important
(1) only for the recruiting agency
{2y only for the candidate
(3) only for the public outside
w both for the candidate and the recruiting agency
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187. Surveys on interviews emerged with
{1} flattering results
W& misgivings on them as a mode of selection
{3} reasonable resulis
4y glowing tributes

188. Imterviews are still held for reasons purely
(1} impractical {2y ideal
gﬂf practical {4) theoretical

189, An orgamisation to depend upen interviews for selection of candidazes without any
reservations. Choose the right answer to fill in the biank.

(1) can afford (2) cantotally give themselves
UH" cannot afford (4) simply loves

1. A candidate for any interview
U.Pf must be equipped with a reasonable knowledge of the requirements of the recruiting
EIEE'I'I'E.'E.-'.
(1)  can pay scant regard to the requirements of a recruiting agency.
1) must be slavishly attuned to the requirements of the recruiting agency,
(4} must dictate his own terms to a recruiting agency.

Read the following passage and answer the questions 191 - 195 :

The most important preliminary to the task of arranging one’s life so that one may
live fully and comfortably within one’s daily budget of twenty four hours is the calm
realisation of the extreme difficulty of the task, of the sacrifices and the endless effort
which it demands. [ cannot too strongly insist on this.

If you imagine that you will be able to achieve your ideal by ingeniously planning
out a lime-table with a pen on a piece of paper, you had better give up hope at once.

If you are not prepared for discouragements and disillusions, if you will not be
content with a small result for a big effort, then do not begin, Lie down again and resume
the uneasy doze, which you will call your existence, It is very sad; is it not very depressing
and sober 7 And yet I think it is rather fine too, this necessity for the terse bracing of the
will before anything worth doing can be done. I rather like it myself. [ feel it to be the chief
thing that differentiates me from the cat by the fireside.

191. If one has to live one's life fully,
-ud'r one has to realize that it involves ceaseless effort
(2) one has to realize that it demands a daily budget
(3) one has to be calm
(4) one has to overcome difficulties
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192. What is the important thing that differentiates one from the cat by the fireside 7
{1}y The human body
(2) The soul
(3) Strength of character
-,’[.4”5’ The need for the bracing of the will

193, If yvou think you can plan out a time table with a pen on a piece of paper vou had better,
(I} begin at once. {2} notdoso,

uﬂ?ﬁ’ give up hope at once. {4} stop the idea.

194. If vou will not be content with small result for a big effort, if you do not expect little from
much labour, if you are a worker or labour shirker, then you had bette -,

(13 be happy with your luck.

\.é'!{ not begin.

(3)  give it a second thought.

(4) leave it all to someone else.

195. What is the uneasy ‘doze’ referred to in the passage 7
{1} Idleness
{2y Laziness

(3} Eating, donking and making merry
\pﬂ" One’s existence

Read the following passage and answer the questuons 196 - 200

MNehru's decision to opt for the mixed economy has almost wunmiversally been
misunderstood and has been seen as the result of foreign influence — Fabian socialism and
Soviet centralized planning. But Nehru was always searching in every facet of his life and
activity for the middle path which Lord Buddha had commended. His policy of Non-
alignment with its accent on negotiations and mediation was one expression of such
ternperament and so also his concept of secularism which did not dery the life of the spirit
and all that it implies. His preference for a mixed economy falls in the same category. He
genuinely believed that this path would help promote economic growth and social peace at
the same time. No one can possibly claim that his total approach — nuxed economy.
secularism, democracy and noo-alignment has not been productive of results. It is a tribate
to Nehru's foresight that unlike most Third World Countries. -we are still a functioning
democracy and a reasonably human society where the mulers feel obliged at least to profess
high standards of public moralitv. 1 am emphasizing the essentially Indian origin of the
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concept of a mixed economy in order to make the point that we can deviate from the search
for a middle path for long only at the cost of grave violence to ourselves, The forms may
differ. But the search for a middle path between capitalism and socialism has to go on. A
Latin American type of economy and society is inconceivable in India.

196. The policy of mixed economy as put forward by Nehru was misunderstood because
‘,(dl",l"' it was considered to be a foreign one.
{2) he was a man of mixed feelings.
{3)  his policies were dictatorial.
{4) it was inspired by the Buddha.

197. Nehru advocated mixed economy because he believed that
(1) it would make India = superpower.
(2} it would make him famous.
(3) it would make the country popular.

M it would promote growth and social equality simultaneously.

198. The credibility of Nehru's approach can be seen in the fact that
(1} the country has progressed,
(2)  the country has acquired military strength.
- the country 1% still a functioning democracy.

(4) the country has made rapid strides in educarion and IT.

199. The basis of the mixed economy is
{1} Fabian socialism.
(2} the Soviet mode of planning.
\.[i!f the path praised by the Buddha,
(4) fanaticism.

200. Nehru was incessantly searching for an economic model that
(1} followed the beaten track.

yi!f suited the Indian temper.
(3) entailed grave violence to ourselves.

{4) was unique and original.
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